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1105E167-4
ENGLISH VERSION
Instructions : Figures to the right indicate Full Marks.

Multiple choice questions :

(1) Which organelle of some plant cells may occupy 50-90% of the cell volume?
(a) Nucleus (b) Cell wall (¢) Vacuale (d) Chloroplast

(2) Which tissue provides mechanical support as well as flexibility to plants?
(a) parenchyma (b) Arenchyma (¢) Collenchyma (d) Sclerenchyma

(3) In which kingdom are the protozoa, tichens and algae included?
(a) Monera (b) Protista (c) Plantae (d) Cyanophyta

(4) Of what is jaundice a disease?
(a) Kidneys (b) Pancreas (c¢) Liver (d) Intestine

(5) What is the chemical formula of Ozone?
(a) CO (b) O, (¢) O, (d) O,

(6) Which of the following is a micronutrient?
(a) Potassium (b) Phosphorous (¢) Zine (d) Calcium

{(7) What is the latent heat of fusion of ice?

(a) 33.4x10° Jkg™ (b) 225x10° Jkg™ (c) 33.4x10" J kg™ (d) 2.25%10" Jkg™
(8) The solution made by adding chalk in water is ..............

(a) true solution (b) Colloid (¢) Suspension (d) Saturated solution
9) The molecular formula of quicklime is .............

(a) CaCl, (b) CaCO, (¢) Ca(OH), (d) CaO
CIOY,  wamiisais is used in the treatment of Cancer.

(a) ¥y (b) ¥Na (c) 7] (d) *co

(11)  Area under a velocity-time graph represents a physical quantity which has the unit ........
(a) m* (b) m (¢) m? (d) ms"'

(12) 1 newton = ........... dyne.
(a) 10° (b) 10 (c) 10 (d) 10°

(13)  The mass of an object of 6 kg, on the surface of moon is ............

1
(a) 1 ke (b) 36 kg (c) 6 kg (d) ke

(14)  Speed of a body in motion is doubled. Its kinetic energy is now ............. times the original
kinetic energy.
(a) two (b) three (¢) four (d half

(15)  Which of the following relations is true for sound waves?

i 3 I
(@) Aav® (b)) Adav (0) f“’-’; (d) Rﬂv—-_-

(16)  What is the focal length of a convex lens having power of +5.0 D?
(a) -10cm (b) -20cm (c) +10em (d) +20cm

(17)  In the human eye, the image of an object is formed at the ...........
{a) iris (b} pupil (¢) retina (d) comea

(18)  The SI unit of electric charge is the ..................
(a) ampere (b) Volt (¢) Watt (d) coulomb
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How many times in one second does on AC with frequency 50Hz change its direction?
(a) 25 (b) 50 (c) 100 (d) 200

Which organ stores bile?

(a) Liver (b) Pancreas (c) small intestine (d) Xeall bladder

Which ovarian hormone regulates menstrual cycle in women”

(a) Testosteron (b) Estrogen (¢) Thyroxin (d) None of these

Which structure develops between uterian wall and foetus to fulfill the need of nutrition?
(a) Placenta (b) Unbilical cord (¢) Amnion (d) Amniotic fluid

Which factor conducts the expressive genetic information from one generation to another?
(a) Protein (b) DNA (¢) RNA (d) Enzyme

Which of the following fuel does not leave ash-like residue while burning?

(a) Wood (b) Charcoal (c) Biogas (d) Coal

In an ecosystem third tropic level is always occupied by which animals?

(a) Herbivores (b) Camivores (¢) Producer (d) Decomposers

The most rapidly dwindling natural resource in the world 18 .....cccoene

(a) Water (b) Forests (¢) Wind (d) Sunlight

lCaCl2 +X - CaSD4 +2NaCL X what is X ?

Which coating is applied on electric wire?
(a) DDT (b) PVC (c) PTFE (d) PAN
Write the common name of ethanoic acid.
(a) Formic acid (b) Acetic acid (¢) Propanoic acid (d) Butonoic acid
Which of the following element will gain an electron easily?
(a)Na (b) F (¢) Mg (d) Al
Which part of a potato plant do we eat?
(a) Root (b) Stem (¢) Leaf (d) Flower
Due to deficiency of which Vitamin do our bones becomes soft and bent?
(a)Vitamin A (b) Vitamin B () Vitamin C (d) Vitamin D
............... is an animal fibre.
(a) Jute (b) Silk (¢) Cotton (d) Nylon
Which process is used for separating a mixture of two liquids that do not mix with each other?
(a)Sieving (b) Filtration (¢) Decantation (d) Evaporation
Which type of plant is money plant?
(a) Herb (b) Shrub (¢) Climber (d) Tree
Which of the following animals does not have a streamlined body?
(a)Octopus (b) Fish (c) Whale (d) Dolphin
What is the nature of the image is obtained by a pinhole camera?
(a) Real (b) Magnified (large) (c) Erect (d) Inverted
Which of the following metals is not attracted by a magnet?
(a) Nickel (b) Cobalt (c) Iron (d) Silver
What part of air is nitrogen?
2 3 t 1
@ 3 ® 37 © 5 @ 3
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Which is not a traditional method of irrigation?

(a) Chain pump (b) Dhekli (¢) Rahat (d) Drip System

Which plastic is used to made electric switches?

(a) Backelite (b) Polyethene (c) PVC (d) Melamine

Which of the following is used for manufacturing of steel?

(a) Bitumen (b) Coal tar (c) Coke (d) Coal

Which of the following is Bison?

(a) Wild buffalo (b) Wild Mango (c) Barking deer (d) Wild dog

Which of the following structure is multicellular?

(a) Sperm (b) Ovum (c) Zygote (d) Foetus

How many pairs of chromosome are there in somatic cells of human?

(a) 22 (b) 23 (c) 44 (d) 46

Every object in the universe exerts a force on every other object : Which is this force?
(a) magnetic force (b) gravitational force (c) elasticity (d) electrostatic force
The frictional force on an object in a fluid depends on .........

(a) Nature of the fluid (b) Speed of the object (c) Shape of the object (d) All of these
Sound of frequencies higher than ............. cannot be detected by human ear.
(a) 20Hz (b) 2000Hz (c) 20,000Hz (d) none of these

Which of the following liquids does not conduct electricity?

(a) Vinegar (b) Sugar solution (c) Lime water (d) Caustic Soda solution
Which part of the eye controlled amount of light entering the eye?

(a) Comea (b) Ciliary muscle (c) Iris (d) Pupil
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